
https://www.pass2lead.com/1z0-519.html
2024 Latest pass2lead 1Z0-519 PDF and VCE dumps Download

 

 

 

1Z0-519Q&As

Oracle E-Business Suite R12.1 Inventory Essentials

Pass Oracle 1Z0-519 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1z0-519.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-519 Dumps | 1Z0-519 PDF Dumps | 1Z0-519 Practice Test                                1 / 4

https://www.pass2lead.com/1z0-519.html
https://www.pass2lead.com/1z0-519.html
https://www.pass2lead.com/1z0-519.html


https://www.pass2lead.com/1z0-519.html
2024 Latest pass2lead 1Z0-519 PDF and VCE dumps Download

QUESTION 1

ABC Corp. has determined its Accounting Key Flexfield structure for the Implementation of Oracle E-

Business Suite Release 12. The Accounting Key Flexfield structure contains five Segments: Company, 

Business Unit, Department, Account, and Product. 

They have the following requirements: 

1)the Department values should be based on the Business Units, 

2)They want to produce a quarterly Balance Sheet for each Company. 

Which three statements are true? (Choose three.) 

A. The Product Value Set is dependent on the Accounts. 

B. The Business Unit Value Set is defined as Independent 

C. The Account Segment has a Value Set with no Validation. 

D. The Company Segment is qualified as the Balancing Segment. 

E. The Department Segment is qualified as an Intercompany Segment 

F. Cross validation rules are required to enforce dependency of Departments on the Business Units. 

Correct Answer: BDF 

 

QUESTION 2

The client wants to implement reorder point planning for some items in the organization. They currently use min-max
planning. 

What is the minimum amount of information that needs to be changed on the items the client wants to plan? 

A. Safety Stock Quantity and Forecast 

B. Safety Stock Quantity, Inventory Planning Method set to Reorder Point, Forecast Quantity, Carrying Cost 

C. Safety Stock Quantity, Inventory Planning Method set to Reorder Point, Forecast Quantity, Carrying Cost, and Order
Cost Quantity 

D. Safety Stock Quantity, Inventory Planning Method set to Reorder Point, Forecast Quantity, Carrying Cost, Order
Cost, and Maximum Order Quantity 

E. Safety Stock Quantity, Inventory Planning Method set to Reorder Point, Forecast Quantity, Carrying Cost, Order
Cost, and Minimum Order Quantity 

Correct Answer: C 
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QUESTION 3

What are the three elements involved in submitting a concurrent request? (Choose three.) 

A. selecting Operating Unit 

B. selecting report language 

C. providing completion option 

D. defining a submission schedule 

E. selecting the request or request set to be submitted 

Correct Answer: CDE 

 

QUESTION 4

Which two statements are true regarding lot-based unit of measure (UOM) conversions? (Choose two.) 

A. You cannot update existing on-hand balances for lot-based UOM conversions. 

B. You can create lot-specific UOM conversions for on-hand lots or lots with zero balance. 

C. You cannot create lot-specific UOM conversions for on-hand lots or lots with a zero balance. 

D. During a PO receipt, the lot-based conversion cannot be updated if the lot does not match existing conversion rates. 

E. Updating the on-hand balance on a lot-based UOM conversion requires a cycle count transaction with the lot number
provided in the count record. 

Correct Answer: BD 

 

QUESTION 5

Select three true statements about inventory reservations. (Choose three.) 

A. A reservation is a link between a supply source and a demand source. 

B. For on-hand Inventory supply, there is only one type of reservation called high-level reservation. 

C. For on-hand inventory supply, there is only one type of reservation called low-level reservation. 

D. Reservations can be created only by Oracle applications or via forms. They cannot be imported from third-party
applications. 

E. A reservation creates a permanent data link between a supply source and a demand source, and represents a
guaranteed allotment of material to a specified demand source. 

F. Item reservations prevent the allocation of material you previously set aside for a sales order, account, account alias,
inventory allotment, user-defined source, process batch components or, Oracle Complex Maintenance and Repair
Overhaul work order components. 
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G. Item reservations allow the allocation of material you previously set aside for a sales order, account, account alias,
inventory allotment, user-defined source, process batch components or, Oracle Complex Maintenance and Repair
Overhaul work order components as long as the quantity is not negative. 

Correct Answer: AEF 
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